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Tick the correct answer
Place value of 0 in 20,78,912 is
lakhs (ii)  tenlakhs (iii) zero (iv) tenthousands

The value of a digit is multiplied by _as it moves to the left in the place value

10 (i) 100 (i) O (iv) 1/10

The face value of 4 in the numeral 8,95,45,785 is

4,000 (ii) 40,000 (iii)) 4 (iv) 10,000

How many 4-digit numbers are there in all?

8999 (ii) 9999 (iii) 9000 (iv) none of these

The smallest 7-digit number using all the digits 6,2,3,0,1,9 is (digits can be repeated)
10,02,369 (i) 11,02,369  (iii) 10,12,369  (iv) 01,02,369

Write the following numbers in the Indian and international systems

7903861

International system-

(i)

Indian system-

426718
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